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A & 0l & AF 2 E A A
SN ASED
M NaT AL (BEES/MGAE - 2F)
SRl SHRY A e CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ATt 8,282,379 4,490,203 3,792,176
Xl 2,100,000
Al 6,182,379
AT A (BRES/MotrE - ) 3,782,379 4,490,203 AT707,824
Xl 2,100,000
Al 1,682,379
SENAXSE Al e 2,500,000 2,114,000 386,000
Xl 1,750,000
Al 750,000
SENASR HE(BRE) 714,000 1,400,000 A 686,000
Xl 500,000
Al 214,000
401 AIEHI L 2 CHYI 714,000 1,400,000 A 686,000
Xl 500,000
Al 214,000
01 A& HI 642,600 1,309,000 A 666,400
B TMAS=2 HEAY
714,000,000& = 90.00/100 642,600
Xl 500,000
Al 142,600
02 Zeltl 66,902 85,960 A 19,058
8 T HAS=R HLAY
714,000,000 = 9.37/100 66,902
03 A2 2 0HHI 4,498 5,040 A 542
O RE TAHASE N AL (0.63%)
4,498,000& = 14 4,498
SNASE WS (EER) 1,786,000 714,000 1,072,000
Xl 1,250,000
Al 536,000
401 AIEHI L 2 CHYI 1,786,000 714,000 1,072,000
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Al 536,000
01 A& HI 1,779,571 665,663 1,113,908
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03 Al S HHI 6,429 4,497 1,932
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6,429,000& = 14l 6,429
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Al 214,000
=3t A& 64,000 64,000 0
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O SHE43A4 A2 W 2L
2,500,000 * 167H A 40,000
1 AIZHI 22T 24,000 24,000 0
01 Al&HI 24,000 24,000 0
O 43 Aa I22
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Xl 350,000
Al 150,000
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) 100,000,0002 * 0.90/100 900
O ARR =T AIE SHIA(CC-TV) EAIE &
Xl 100,000,0002 * 0.90/100 900
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SN HEED
A 44T ALPR(BI2E/MGEE - £7)
B AR £=EAIE S22 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
01 Al&H| 16,000 100,000 A 84,000
O Y92 BsSAME(22H, S4+U) X2
8,000,000& = 1A 8,000
O H=8 2SAME(S£H) JNAdM &47D] H
ul| 8,000,000& = 1A 8,000
HEES(ALEC)(SHHAES/NMolEE - =8) 4,500,000 0 4,500,000
WEAHA XK= 4,500,000 0 4,500,000
LHE {chH 4,500,000 0 4,500,000
701 JIEIG HENE2 4,500,000 0 4,500,000
03 2I)|HYELEIHN=2AIEZ 4,500,000 0 4,500,000
O 20178 U= Al XU BI|Y AT AISEEE I
VS 4,500,000,000& = {14! 4,500,000




